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Please describe Porter’ s competitive forces model and his
value chain model, and explain how IT helps companies
improve their competitive positions. {25%)

R B AANY  (transaction cost theory) ? #7918 T #
FEA, (business mode )7 MM T EAATRHE  EHTT
MRS TEAF RS R EAZCBGRE AN BBHNER
Bz - (25%)
EHRERW-BEREISESFHS R L0 SEE R
B BEIEH Mg H#{entities) - B (relationships) BB
th(atiribotes) ? W& B 284 0 nodel (VTR 2 B
oo~ IR AR TEHTRI T AR SR
(mandatory participant) #® #& # £ ® {(optional
participant)) ZBBmE 2 E-Raodel A THA 0 E
REETHA M P TR - (2N HETETER




